@ p v Lisdys enintddn 100 (vaaka)

Nimi: Paivamaard: _ Pisteet:
21 +15 = 56+ 60 =
31+96 = 86 + 68 =
61 +37 = 7+62 =
17 +23 = 69 + 56 =
64 +43 = 1+92=
14+ 18 = 68 + 46 =
43 +26= 99 +35 =
67 + 46 = 16 + 85 =
47+ 6= 3446 =
98 + 56 = 39 +48 =
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Bgre®

Lisdys enintddn 100 (vaaka)

Nimi:

21 +15=36

31+96 =127

61 +37 =98

17+23 =40

64 +43 = 107

14+ 18 = 32

43 +26 = 69

67+46 =113

47+ 6 =53

98 + 56 = 154

56 +60 =116

86 + 68 = 154

7+62 =69

69 +56 = 125

1+92=093

68 +46 =114

99 +35 =134

16 +85 =101

3 +46 = 49

39 +48 = 87
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Paivamaara:

Pisteet:
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